PERTURBATION OF THE CONTINUOUS SPECTRUM AND UNITARY EQUIVALENCE

MARVIN ROSENBLUM

1. Introduction. Suppose that A and B are self-adjoint operators in a Hilbert space H such that B-A=P is a completely continuous operator. We shall concern ourselves with the problem of finding conditions sufficient to guarantee that B is unitarily equivalent to A. Clearly a necessary condition is that the spectrum of A (considered as a point set on the real line) is equal to the spectrum of B. However this condition is not sufficient; von Neumann [8] has proved the following result

1.1. Let A and C be bounded self-adjoint operators in a separable Hilbert space, such that the spectra of A and C have the same limit points. Then there exists an operator B that is unitarily equivalent to C and such that B-A is completely continuous.

Thus we see that perturbation by a completely continuous operator can radically alter the multiplicity of the spectrum. Even if A and Bhave pure continuous spectra on the same interval, it does not follow that B is unitarily equivalent to A.

Our present investigation continues along lines begun by Friedrichs in [1] and [2]. He considered bounded operators A that have continuous spectrum of finite multiplicity, and worked in the representation space where A corresponds to a multiplication operator. One of Friedrichs' results is the following.

1.2. Let $H=L^2(-1, 1)$ and let A be the operator that sends any function f(x) of H into xf(x). Let P be the integral operator with the hermitian kernel $p(x, y)=\overline{p(y, x)}$, where p satisfies certain Lipschitz conditions. Then if ε is a sufficiently small real number, there exist unitary operators U_{ε} and V_{ε} such that

(i)	$e^{-i(A+\varepsilon P)t}e^{iAt}$	converges	strongly	to	$U_{arepsilon}$	a	s $t \rightarrow$	∞;

⁽ii) $e^{-i(A+\varepsilon P)t}e^{iAt}$ converges strongly to V_{ε} as $t \to -\infty$;

Received April 23, 1956. Research performed in part under contract DA-04-200-ORD-171 Task Order 5 for Office of Ordnance Research, U.S. Army. This paper is a revised version of the author's doctoral dissertation submitted to the University of California, Berkeley. He wishes to thank Professor Frantisek Wolf for his advice and encouragement.

and

(iii)
$$U_{\varepsilon}^{*}(A+\varepsilon P)U_{\varepsilon}=A \text{ and } V_{\varepsilon}^{*}(A+\varepsilon P)V_{\varepsilon}=A$$
.

The operator $S=U_{\varepsilon}^*V_{\varepsilon}$ is the scattering operator, which is of intersect in quantum mechanics; see H. E. Moses [5] and Kay and Moses [4].

We shall make the following assumptions.

Assumption 1.3. $A = \int_{-\infty}^{\infty} x d_x E_x$ and $B = \int_{-\infty}^{\infty} x d_x F_x$ are (possibly unbounded) self-adjoint operators and B - A = P is a completely continuous operator such that the trace of |P| is finite¹.

Assumption 1.4. The spectral measure of A is weakly absolutely continuous, that is, $(E_x f, g)$ is an absolutely continuous function of x for all f, g in H.

We want to find conditions on B that will guarantee that B is unitarily equivalent to A, that is, that there exist a unitary operator U such that BU=UA, or equivalently, that $(F_xUf, g)=(E_xf, U^*g)$ for all f, g in H. Thus a necessary condition is given in

Assumption 1.5. The spectral measure of B is weakly absolutely continuous.

We shall show in this paper that this condition is also sufficient. In fact, we shall prove the following.

THEOREM 1.6. Suppose that 1.3, 1.4, and 1.5 hold. Then as $t \to \infty$, or $t \to -\infty$, $e^{-iBt}e^{iAt}$ converges strongly to unitary operators U and V respectively, such that $U^*BU=A$ and $V^*BV=A$.

By von Neumann's theorem (see 1.1) Theorem 1.6 is no longer true if P is allowed to be an arbitrary completely continuous operator. It should be noticed that we have imposed no smallness condition on the norm of P, and that A may have continuous spectrum of any multiplicity.

1. Sketch of the proof. Actually, to prove Theorem 1.6, we have only to prove the following (seemingly) weaker result.

2.1. Assume 1.3–1.5 hold. Then as $t \to \infty$, $e^{-iBt}e^{iAt}$ converges weak-

¹ For any self-adjoint $A = \int_{-\infty}^{\infty} \lambda dE_{\lambda}$ we define $|A| = \int_{-\infty}^{\infty} |\lambda| dE_{\lambda}$.

ly to an operator U such that BU=UA and ||Uf||=||f|| for all f in H.

Proof. We shall deduce Theorem 1.6 from 2.1. We assume that the hypotheses and conclusions of 2.1 are valid. Recall that if a sequence $\{g_n\}$ of elements of H converges weakly to a limit element g, and if $||g_n|| \to ||g||$, then g_n converges strongly to g.

Let $f \in H$. $U_i = e^{-iBi} e^{iAi}$ is unitary, so

$$\lim_{t \to \infty} \| U_t f \| = \| f \| = \| U f \|.$$

But, since $U_i f$ also converges weakly to Uf, it follows from the preceding paragraph that as $t \to \infty$, $U_i f$ converges strongly to Uf. Also $f \parallel = \parallel Uf \parallel$ implies that

$$(f, f) = ||f||^2 = ||Uf||^2 = (Uf, Uf) = (U^*Uf, f), \text{ so } U^*U = I.$$

Now, 2.1 holds for all choices of A and B that satisfy the Assumptions 1.3-1.5. Since B-A=P we see that A-B=-P. Thus we can substitute A for B, B for A, and -P for P, and we can infer from 2.1 and the preceding paragraph that $e^{-iAt}e^{iBt}$ converges strongly to some operator W, and $W^*W=I$. Since $(e^{-iBt}e^{iAt})^*=e^{-iAt}e^{iBt}$ we deduce that $W=U^*$ and that $UU^*=U^*U=I$, so that U is unitary and $U^*BU=A$.

It is also true that -B-(-A)=-P, and if we substitute -A for A and -B for B in 2.1 we can repeat the above arguments to prove that as $t \to \infty$, $e^{iBt}e^{-iAt}$ converges strongly to a unitary operator V such that $V^*BV=A$.

In the remainder of this paper we prove 2.1. From now on we assume that assumptions 1.3-1.5 hold. We know that P=B-A has a representation

$$P = \sum_{j=1}^{\infty} \lambda_j(\cdot, \phi_j) \phi_j,$$

where the ϕ_j are orthonormal and

$$\sum_{j=1}^{\infty} |\lambda_j| < \infty$$
 .

We put $U_t = e^{-iBt}e^{iAt}$. For any complex-valued Lebesgue-measurable function K(x) that is almost everywhere finite we can define the normal operator K(A) by specifying that

$$(K(A)f, g) = \int_{-\infty}^{\infty} K(x) \frac{d(E_x f, g)}{dx} dx$$

for suitable f in H. In particular, $(e^{-iAt}f, g)$ is the Fourier transform

of $d(E_x f, g)/dx$. The letters f, g shall denote arbitrary elements in H. The following sketch of our method of attack may prove instructive. We first derive the representation theorem

3.3. (i)
$$(U_{\iota}f, g) = (f, g) + \frac{1}{i} \int_{0}^{t} (e^{-iBx} P e^{iAx} f, g) dx$$
.

We wish to take $t \to \infty$ and thus exhibit an operator U such that U_i converges weakly to U. But the integrand in 3.3 (i) is not necessarily integrable over $(0, \infty)$. However, we show in 4.4 (i) and 4.7 that there exists a function w(x) that is finite a. e. and such that when f is in the domain of w(A) and g is in the domain of w(B), then the integrand in 3.3 (i) belongs to $L(0, \infty)$. Using this fact we prove in part 5 that U_i converges to an operator U such that BU=UA.

Now we have to show that ||Uf|| = ||f||. We proceed in an indirect fashion. Rather than work with U_t we consider the operators $K_n(B)U_t$, where the $K_n(x)$ are a sequence of characteristic functions such that $K_n(x) \to 1$ and such that the integrand in the representation

$$(K_n(B)U_i f, g) = (K_n(B)f, g) + \frac{1}{i} \int_0^i (K_n(B)e^{-iBx}Pe^{iAx}f, g) dx$$

belongs to $L(0, \infty)$ for a dense set of f and all g in H. We show that, for each n, $K_n(B)U_i$ converges strongly to $K_n(B)U$, and thus

$$\lim_{n\to\infty} \lim_{t\to\infty} \|K_n(B)U_tf\| = \|Uf\|.$$

By means of representation Theorem 3.5 we show that this iterated limit is also equal to ||f||, and thus ||Uf|| = ||f||, and 2.1 is proved.

3. Derivation of the representation theorems.

LEMMA 3.1. If s is a complex number with nonzero real part, then

(i)
$$(s+iB)^{-1}=(s+iA)^{-1}-i(s+iB)^{-1}P(s+iA)^{-1}$$
,

(ii)
$$=(s+iA)^{-1}-i(s+iA)^{-1}P(s+iB)^{-1}$$
.

Proof. Since B-A is bounded it follows that A and B have the same domain D. Then, for any $f \in H$, $(s+iB)^{-1}f \in D$, and

$$\begin{aligned} -i(s+iA)^{-1}P(s+iB)^{-1}f = (s+iA)^{-1}(s+iA-s-iB)(s+iB)^{-1}f \\ = (s+iB)^{-1}f - (s+iA)^{-1}f. \end{aligned}$$

(ii) follows similarly.

LEMMA 3.2. If s is a complex number with nonzero real part, and if L is a bounded operator that commutes with $(s+iB)^{-1}$, then

(i)
$$(s+iA)^{-1}L - L(s+iA)^{-1} = -i(s+iA)^{-1}[LP - PL](s+iA)^{-1}$$
.

Proof. By 3.1 (i),

$$L(s+iB)^{-1} = L(s+iA)^{-1} - iL(s+iB)^{-1}P(s+iA)^{-1}$$
$$= L(s+iA)^{-1} - i(s+iB)^{-1}LP(s+iA)^{-1}$$

By 3.1 (ii), this last expression equals

$$L(s+iA)^{-1} - i(s+iA)^{-1}LP(s+iA)^{-1} - (s+iA)^{-1}P(s+iB)^{-1}LP(s+iA)^{-1}$$

It can be similarly shown that

$$(s+iB)^{-1}L = (s+iA)^{-1}L - i(s+iA)^{-1}PL(s+iA)^{-1}$$

- $(s+iA)^{-1}PL(s+iB)^{-1}P(s+iA)^{-1}$.

Lemma 3.2 follows upon subtracting this last equation from the preceding equation and using the commutativity property of L.

In the following representation theorems all operator integrals are understood to be defined in the weak sense.

THEOREM 3.3. For any real number t,

- (i) $U_t = I + \frac{1}{i} \int_0^t e^{-iBx} P e^{iAx} dx$, and (ii) $e^{-iBt} = e^{-iAt} + \frac{1}{i} \int_0^t e^{-iBx} P e^{iA(x-t)} dx$.
- *Proof.* Let s be a complex number with positive real part. Then 3.1 (i) holds and

$$\int_{0}^{\infty} e^{-st} e^{-iAt} dt = (s+iA)^{-1}$$

for any self-adjoint operator A. Hence by the Laplace transform, convolution and uniqueness theorems as found in Hille [3], chapter 10, we derive (ii).

(i) follows from (ii) by operating on the right with e^{iAt} .

THEOREM 3.4. If L is a bounded operator that commutes with every bounded function of B, then

(i)
$$e^{-iAt}Le^{iAt} = L + \frac{1}{i} \int_{0}^{t} e^{-iAx} (LP - PL)e^{iAx} dx$$
.

Proof. We start with 3.2, parallel the proof of Theorem 3.3, and derive the formula

$$e^{-iAt}L - Le^{-iAt} = \frac{1}{i} \int_{0}^{t} e^{-iAx} (LP - PL) e^{iA(x-t)} dx$$
.

3.4 follows by operating on the right with e^{iAt} .

We shall use 3.4 (i) in the following form.

COROLLARY 3.5. If K is a projection operator that commutes with every bounded function of B, then

(i)
$$||KU_i f||^2 - ||f||^2 = ([K-I]f, f) + \frac{1}{i} \int_0^t (e^{-iAx}(K-I)Pe^{iAx}f, f)dx$$

 $-\frac{1}{i} \int_0^t (e^{-iAx}P(K-I)e^{iAx}f, f)dx$

Proof. We set L=K-I in 3.4 (i) and take inner products. Then the right hand side of 3.4 (i) is equal to the right hand side of 3.5 (i). But,

$$(e^{-iAt}[K-I]e^{iAt}f, f) = (e^{-iAt}Ke^{iAt}f, f) - (f, f)$$

= $||Ke^{iAt}f||^2 - ||f||^2$
= $||KU_tf||^2 - ||f||^2$,

so the left sides are equal which proves 3.5.

4. Definition of the $K_n(x)$.

THEOREM 4.1.

(i) $0 \leq \frac{d(E_x f, f)}{dx} < \infty$ for almost all x; (ii) $\int_{-\infty}^{\infty} \left| \frac{d(E_x f, g)}{dx} \right| dx \leq ||f|| \cdot ||g||$ (iii) $\int_{-\infty}^{\infty} \frac{d(E_x f, g)}{dx} dx = (f, g)$; and

(iv)
$$\left|\frac{d(E_xf, g)}{dx}\right|^2 \leq \frac{d(E_xf, f)}{dx} \cdot \frac{d(E_xg, g)}{dx}$$
 for almost all x.

Proof. (i) follows from the fact that $(E_x f, f)$ is a monotone increasing function of x;

(ii) is true because the total variation of $(E_x f, g)$ is $\leq ||f|| \cdot ||g||$, (see Riesz and Nagy [6, p. 340]).

(iii) holds because $E_{\infty} = I$ and $E_{-\infty} = 0$.

We shall now derive (iv). If h is a nonzero real number, then

$$\left|\binom{([E_{x+h}-E_x]f, g)}{h}\right|^2 = \frac{1}{h^2} |([E_{x+h}-E_x]f, [E_{x+h}-E_x]g)|^2,$$

which by the Schwarz inequality is

$$\leq \left(\left[\frac{E_{x+h}-E_x}{h}\right]f, f\right) \cdot \left(\left[\frac{E_{x+h}-E_x}{h}\right]g, g\right).$$

Taking h to 0 completes the proof.

LEMMA 4.2.

(i) $\int_{-\infty}^{\infty} |(e^{iAx}f, g)|^2 dx \leq 2\pi \int_{-\infty}^{\infty} \left| \frac{d(E_xf, g)}{dx} \right|^2 dx$ (ii) $\lim_{t \to \infty} (e^{iAt}f, g) = 0.$

Proof. If $d(E_x f, g)/dx$ is not square integrable, then the right hand side is infinite and there is nothing to prove. If $d(E_x f, g)/dx$ is square integrable, then its Fourier transform is also square integrable and (i) is an equality.

(ii) is a consequence of 4.1 (ii) and the Riemann-Lebesgue lemma.

LEMMA 4.3. If Q is a bounded self-adjoint operator, then
(i)
$$\int_{-\infty}^{\infty} ||P|^{\frac{1}{2}} Q e^{iAx} f||^{2} dx \leq 2\pi \int_{-\infty}^{\infty} \left[\sum_{j=1}^{\infty} |\lambda_{j}| d(E_{x}Q\phi, Q\phi_{j})/dx \right] d(E_{x}f, f)/dx dx$$

$$\leq 2\pi \text{ ess sup } d(E_{x}f, f)/dx \sum_{j=1}^{\infty} |\lambda_{j}| ||Q\phi_{j}||^{2}$$
(ii)
$$\int_{-\infty}^{\infty} ||P|^{\frac{1}{2}} Q e^{iBx} f||^{2} dx \leq 2\pi \int_{-\infty}^{\infty} \left[\sum_{j=1}^{\infty} |\lambda_{j}| d(F_{x}Q\phi_{j}, Q\phi_{j})/dx \right] d(F_{x}f, f)/dx dx$$

Proof. In this proof we have nonnegative integrands and thus we freely commute integration and summation.

$$\int_{-\infty}^{\infty} || |P|^{\frac{1}{2}} Q e^{iAx} f ||^{2} dx = \int_{-\infty}^{\infty} \sum_{j=1}^{\infty} |\lambda_{j}| |(e^{iAx} f, Q\phi_{j})|^{2} dx ,$$

which by 4.2 (i) and then 4.1 (iv) is

$$\leq 2\pi \int_{-\infty}^{\infty} \sum_{j=1}^{\infty} |\lambda_j| |d(E_x f, Q\phi_j)/dx|^2 dx$$

MARVIN ROSENBLUM

$$\leq 2\pi \! \int_{-\infty}^{\infty} \! \left[\sum\limits_{j=1}^{\infty} |\lambda_j| \, d(E_x Q \phi_j, \;\; Q \phi_j)/dx \,
ight] \! d(E_x f, \; f)/dx \, dx \; .$$

The remaining inequality in (i) is readily derived from this and 4.1 (iii).

4.3. (ii) follows similarly.

LEMMA 4.4. If Q_1 and Q_2 are bounded self-adjoint operators and $-\infty \leq s, t \leq \infty$, then

$$\begin{aligned} \text{(i)} \quad \left[\int_{s}^{t} |(e^{-iBx} P e^{iAx} f, g)| dx \right]^{2} &\leq \int_{s}^{t} ||P|^{\frac{1}{2}} e^{iAx} f||^{2} dx \int_{-\infty}^{\infty} ||P|^{\frac{1}{2}} e^{iBx} g||^{2} dx \,. \end{aligned} \\ \end{aligned}$$
$$\begin{aligned} \text{(ii)} \quad \left[\int_{-\infty}^{\infty} |(e^{-iAx} Q_{1} P Q_{2} e^{iAx} f, f)| dx \right]^{2} \\ &\leq [2\pi \text{ ess sup } d(E_{x} f, f)/dx] \left[\sum_{j=1}^{\infty} |\lambda_{j}| ||Q_{1} \phi_{j}||^{2} \right] \\ &\times \left[\sum_{j=1}^{\infty} |\lambda_{j}| ||Q_{2} \phi_{j}||^{2} \right] \end{aligned}$$

Proof. Let C be the operator A or the operator B. Since for any self-adjoint operator P we have the decomposition $P = |P|^{\frac{1}{2}} \operatorname{sgn} P |P|^{\frac{1}{2}}$, we have

$$egin{aligned} &|(e^{-i \mathcal{O} x} Q_1 P Q_2 e^{i \mathcal{A} x} f, \ g)| = &|(e^{-i \mathcal{O} x} Q_1 |P|^{rac{1}{2}} \, \mathrm{sgn} \ P \ |P|^{rac{1}{2}} Q_2 e^{i \mathcal{A} x} f, \ g)| \ = &|(\mathrm{sgn} \ P \ |P|^{rac{1}{2}} Q_2 e^{i \mathcal{A} x} f, \ |P|^{rac{1}{2}} Q_1 e^{i \mathcal{O} x} g)| \,, \end{aligned}$$

which by the Schwarz inequality and the fact that $\|\operatorname{sgn} P\| \leq 1$ is

$$\leq \| |P|^{\frac{1}{2}} Q_2 e^{iAx} f \| \cdot \| |P|^{\frac{1}{2}} Q_1 e^{i0x} g \|.$$

By the Schwarz inequality for integrals and the above calculation we see that

$$\begin{split} \left[\int_{s}^{t} & |(e^{-i\theta x}Q_{1}PQ_{2}e^{iAx}f, \ g)|dx \right]^{t} \\ & \leq & \int_{s}^{t} || \ |P|^{\frac{1}{2}}Q_{2}e^{iAx}f||^{2}dx \int_{s}^{t} || \ |P|^{\frac{1}{2}}Q_{1}e^{i\theta x}g||^{2} \ dx \\ & \leq & \int_{s}^{t} || \ |P|^{\frac{1}{2}}Q_{2}e^{iAx}f||^{2} \ dx \int_{-\infty}^{\infty} || \ |P|^{\frac{1}{2}}Q_{1}e^{i\theta x}g||^{2} \ dx \ . \end{split}$$

If we put $Q_1 = Q_2 = I$ and C = B we see that we have derived (i). If we put $t = \infty$, $s = -\infty$, C = A, and employ 4.3 (i), we derive (ii).

DEFINITION 4.5.

$$w(x) = \sum_{j=1}^{\infty} |\lambda_j| [d(E_x \phi_j, \phi_j)/dx + d(F_x \phi_j, \phi_j)/dx].$$

THEOREM 4.6. For almost all x, w(x) is nonnegative and finite.

Proof. From 4.1 (i) and the definition of w(x) it follows that w(x) is nonnegative a.e.

$$\int_{-\infty}^{\infty} w(x) dx = \sum_{j=1}^{\infty} |\lambda_j| \left[\int_{-\infty}^{\infty} d(E_x \phi_j, \phi_j) / dx \ dx + \int_{-\infty}^{\infty} d(F_x \phi_j, \phi_j) / dx \ dx \right]$$

which by 4.1 (iii), is $2\sum_{j=1}^{\infty} |\lambda_j|$. This last term is finite by assumption. Hence w(x) is integrable, and thus is a.e. finite.

LEMMA 4.7. If f is in the domain of w(A), then

(i) $\int_{-\infty}^{\infty} ||P|^{\frac{1}{2}} e^{iAx} f||^{2} dx \leq 2\pi(w(A)f, f)$. If f is in the domain of w(B), then (ii) $\int_{-\infty}^{\infty} ||P|^{\frac{1}{2}} e^{iBx} f||^{2} dx \leq 2\pi(w(B)f, f)$.

Proof. By 4.3 (i)

$$egin{aligned} &\int_{-\infty}^\infty \parallel |P|^rac{1}{2}e^{iAx}f \parallel^2 dx \ &\leq 2\pi \!\int_{-\infty}^\infty \!\! \left[\sum\limits_{j=1}^\infty |\lambda_j|\, d(E_x\phi_j,\;\phi_j)/dx\,
ight]\! d(E_xf,\;f)/dx\;\,dx\,, \end{aligned}$$

which is

$$\leq 2\pi \int_{-\infty}^{\infty} w(x) d(E_x f, f) / dx \ dx = 2\pi (w(A)f, f) .$$

(ii) follows similarly.

DEFINITION 4.8. For every positive integer n, let $K_n(x)$ be the characteristic function of the set of real number x such that $w(x) = \infty$ or $w(x) \leq n$.

THEOREM 4.9. For every positive integer n,

- (i) $K_n(x)$ is a measurable function
- (ii) $[K_n(x)]^2 = K_n(x)$ and $K_n(x)$ is real;

- (iii) $\lim K_n(x) = 1$; and
- (iv) $0 \leq w(x)K_n(x) \leq n$ for almost all x.

Proof. (i)-(iii) follow immediately from the definition of $K_n(x)$. (iv) is a consequence of 4.6.

THEOREM 4.10. For every positive integer n,

- (i) $K_n(A)$ is a projection operator such that
- (ii) $0 \leq w(A)K_n(A) \leq n;$
- (iii) $\lim_{n \to \infty} (K_n(A)f, g) = (f, g);$ and
- (iv) $\lim_{n\to\infty} ||K_n(A)f-f||=0.$
- (i)-(iv) also hold when A is replaced everywhere by B.

Proof. (i)-(iii) are direct consequences of 4.9. (iv) follows from (iii).

THEOREM 4.11. Let n be any positive integer. Then as $t \to \infty$, $K_n(B)U_t$ converges strongly.

Proof. For f in the domain of w(A) and all g in H

$$|(K_n(B)[U_t - U_s]f, g)|^2 = |([U_t - U_s]f, K_n(B)g)|^2,$$

which by 3.3 (i) and then 4.4 (i) and 4.7 (ii)

$$= \left| \frac{1}{i} \int_{s}^{t} (e^{-iBx} P e^{iAx} f, K_{n}(B)g) dx \right|^{2} \\ \leq 2\pi \int_{s}^{t} ||P|^{\frac{1}{2}} e^{iAx} f||^{2} dx \cdot (w(B)K_{n}(B)g, K_{n}(B)g) .$$

But by 4.10 (ii) this is

$$\leq 2\pi \int_{s}^{t} \|P|^{\frac{1}{2}} e^{iAx} f\|^{2} \, dx \cdot n \cdot \|g\|^{2} \, .$$

Now set $g = K_n(B)[U_t - U_s]f$ in preceding inequality. When then have

$$\begin{split} \|K_n(B)[U_t - U_s]f\|^4 \\ &\leq 2\pi \int_s^t \||P|^{\frac{1}{2}} e^{iAx}f\|^2 \, dx \cdot n \cdot \|K_n(B)[U_t - U_s]f\|^2 \\ &\leq 8\pi n \, \|f\|^2 \int_s^t \||P|^{\frac{1}{2}} e^{iAx}f\|^2 \, dx \; . \end{split}$$

But, by 4.7 (i) the integrand in this last expression belongs to $L(-\infty, \infty)$. Thus $\lim ||K_n(B)[U_t - U_s]f|| = 0$.

We have proved that for all f in a dense set, $K_n(B)U_t f$ converges strongly. Since $||K_n(B)U_t|| \leq 1$, it follows that 4.11 is true.

5. The Operator U.

THEOREM 5.1. As $t \to \infty$, U_t converges weakly to an operator U. For any f, g in H,

(i)
$$(Uf, g) = (f, g) - i \lim_{t \to \infty} \int_0^t (e^{-iBx} P e^{iAx} f, g) dx$$
.

Proof. We know from 3.3 (i) that

$$(U_t f, g) = (f, g) - i \int_0^t (e^{-iBx} P e^{iAx} f, g) dx$$
.

The estimates 4.4 (i) and 4.7 assure us that the integrand in this expression belongs to $L(0, \infty)$ for all f in the domain D_1 of w(A) and all g in the domain D_2 of w(B). Thus the bilinear form

$$b(f, g) = b(f, g) = \lim_{t \to \infty} (U_t f, g)$$

is defined on $D_1 \times D_2$. Since $||U_t|| = 1$ this form is bounded and it follows from the Frechet-Riesz representation theorem (see Stone [7], p. 63) that there exists a bounded, everywhere defined operator U such that (Uf, g) = b(f, g) for all f, g in $D_1 \times D_2$. In fact, since the U_t are uniformly bounded it is the case that $(Uf, g) = \lim_{t \to \infty} (U_t f, g)$ for all f, g in H. Thus 5.1 (i) holds.

LEMMA 5.2. For all f in H, $\lim_{t\to\infty} ||Pe^{iAt}f|| = 0$.

Proof. Let $\varepsilon > 0$. Since P is completely continuous there exists an integer n and an operator

$$P_n = \sum_{j=1}^n \lambda_j (\cdot, \phi_j) \phi_j$$

such that $||P-P_n|| \leq \varepsilon$. Then

$$\begin{aligned} \|Pe^{iAt}f\| &= \|(P_n + P - P_n)e^{iAt}f\| \leq \|P_n e^{iAt}f\| + \|(P - P_n)e^{iAt}f\| \\ &\leq \|P_n e^{iAt}f\| + \varepsilon \|f\| \,. \end{aligned}$$

But

$$||P_n e^{iAt} f||^2 = \sum_{j=1}^n \lambda_j^2 |(e^{iAt} f, \phi_j)|^2$$
,

which, by 4.2 (ii), goes to 0 as $t \to \infty$. Since ε is arbitrary, the proof is complete.

LEMMA 5.3. For all real s, $e^{-iBs}U = Ue^{-iAs}$.

Proof.

$$e^{-iBs}U_{t} - U_{t}e^{-iAs} = e^{-iBs}e^{-iBt}e^{iAt} - e^{-iBt}e^{iAt}e^{-iAs}$$
$$= e^{-iBt}(e^{-iBs} - e^{-iAs})e^{iAt},$$

which by 3.3 (ii)

$$=\frac{1}{i}\int_{0}^{s}e^{-iB(x+t)}Pe^{iA(x+t-s)}dx.$$

Thus

$$\begin{split} \|(e^{-iBs}U_{t}f, g) - (U_{t}e^{-iAs}f, g)\| \\ \leq & \int_{0}^{s} \|(e^{-iB(x+t)}Pe^{iA(x+t-s)}f, g)\| dx \\ \leq & \int_{0}^{s} \|Pe^{iA(x+t-s)}f\| \cdot \|g\| dx \,. \end{split}$$

By the preceding lemma and the bounded convergence theorem this last term goes to 0 as $t \to \infty$. Since U_t converges weakly to U we have $(e^{-iBs}Uf, g) - (Ue^{-iAs}f, g) = 0$, or 5.3.

THEOREM 5.4. BU=UA.

Proof. By 5.3,
$$(e^{-iBs}Uf, g) = (Ue^{-iAs}f, g)$$
, or
$$\int_{-\infty}^{\infty} e^{-ixs} d(F_x Uf, g)/dx \ dx = \int_{-\alpha}^{\infty} e^{-ixs} d(UE_x f, g)/dx \ dx$$

By the Fourier integral uniqueness theorem, $(F_x Uf, g) = (UE_x f, g)$, and thus BU = UA.

6. Conclusion of the proof.

6.1. We know that as $t \to \infty$, U_t converges weakly to U. Since $K_n(B)U_t$ converges strongly (Theorem 4.11) it follows that it converges strongly to $K_n(B)U$. From this we deduce that for all f in H,

 $\lim ||K_n(B)U_tf|| = ||K_n(B)Uf||,$

and by 4.10 (iv),

(i) $\lim_{n \to \infty} \lim_{t \to \infty} ||K_n(B)U_t f|| = ||Uf||$.

We shall use 3.5 (i) in the form

(ii)
$$||K_n(B)U_if||^2 - ||f||^2 = ([K_n(B) - I]f, f) + \frac{1}{i} \int_0^t (e^{-iAx} [K_n(B) - I] P e^{iAx} f, f) dx - \frac{1}{i} \int_0^t (e^{-iAx} P [K_n(B) - I] e^{iAx} f, f) dx ,$$

to prove that

(iii) $\lim_{n\to\infty} \lim_{t\to\infty} \|K_n(B)U_tf\| = \|f\|,$

and thus show that ||Uf|| = ||f||. When this has been done we will have proved 2.1, and Theorem 1.6 will follow from the argument after 2.1. It is clear that it is sufficient to show that (iii) is valid for all f is a dense set.

DEFINITION 6.2. Let D be the set of all f in H such that $d(E_x f, f)/dx$ is essentially bounded for all real x.

THEOREM 6.3. D is dense in H.

Proof. Let f be an arbitrary element in H. By 4.1 (i) $d(E_x f, f)/dx$ is almost everywhere finite. Let $M_n(x)$ be the characteristic function of the set of all real numbers x such that $d(E_x f, f)/dx \leq n$ or $d(E_x f, f)/dx = \infty$. Then $M_n(A)f$ is a sequence of elements of D that converges strongly to f. Hence 6.3 is true.

THEOREM 6.4. If $f \in D$, then 6.1 (iii) is true.

Proof. We shall consider each of the terms on the right hand side of 6.1 (ii). By 4.10 (iii), $\lim_{n \to \infty} ([K_n(B) - I]f, f) = 0$. By 4.4 (ii)

$$\begin{split} & \left| \frac{1}{i} \int_0^\infty (e^{-iAx} [K_n(B) - I] P e^{iAx} f, f) dx \right| \\ & \leq 2\pi \text{ ess } \sup \frac{d(E_x f, f)}{dx} \Big[\sum_{j=1}^\infty |\lambda_j| \left\| [K_n(B) - I] \phi_j \right\|^2 \Big]^{\frac{1}{2}} \Big[\sum_{j=1}^\infty |\lambda_j| \right]^{\frac{1}{2}}, \end{split}$$

which by 4.10 (iv) goes to 0 as $n \to \infty$. Thus it can be shown that all the terms on the right hand side of 6.1 (ii) go to 0 as $n \to \infty$, and thus 6.1 is true, and our proof of Theorem 1.6 is complete.

We conclude this paper with an interesting representation theorem for F(B)-F(A).

THEOREM 6.5. Assume 1.3–1.5 hold and that F(x) is an essentially bounded function. Then

- (i) $\lim (e^{-iAt}F(B)e^{iAt}f, g) = (F(A)f, g)$ and
- (ii) $([F(B) F(A)]f, g) = \lim_{t \to \infty} i \int_0^t (e^{-iAx} [F(B)P PF(B)]e^{iAx}f, g) dx$.

Proof. $(e^{-iAt}F(B)e^{iAt}f, g) = (U_t^*F(B)U_tf, g) = (F(B)U_tf, U_tg)$. Since U_tf and U_tg converge strongly to Uf and Ug respectively and U is unitary we have

$$\lim_{t\to\infty} (e^{-iAt}F(B)e^{iAt}f, g) = (F(B)Uf, Ug) = (UF(A)f, Ug) = (F(A)f, g) .$$

(ii) is a consequence of (i) and Theorem 3.4.

References

1. K.O. Friedrichs, Über die Spektralzerlegung eines Integraloperators, Math. Ann., **115** (1938), 249-272.

2. ____, On the perturbation of the continuous spectra, Communications on Applied Math., 1 (1948), 361-401.

3. E. Hille, Functional analysis and semi-groups, New York, 1948.

4. I. Kay and H. E. Moss, The determination of the scattering potential from the spectral measure function, N.Y.U. Research Report CX-18; January, 1955.

5. H.E. Moses, The scattering operator and the adiabatic theorem, Nuovo Cimento, 1 (1955), 103-131.

6. Riesz, F. and B. Sz. Nagy, Lecons d'analyse fonctionnelle, Budapest, 1952.

7. M.H. Stone, Linear transformations in Hilbert space, New York, 1932.

8. J. von Neumann, Charakterisierung des Spektrums eines Integraloperators, Actualités Sci. Ind., **229**, 1935.

UNIVERSITY OF CALIFORNIA AND UNIVERSITY OF VIRGINIA